


Risk and Return and Stock Valuation

Learning Problems

Diversification at Agnew with Assets A and B
Agnew Company is constructing a portfolio of two securities.  The expected future returns are shown below:

	Asset A
	
	
	
	

	
	Business Cycle
	Probability
	Annual Cash Flow
(CAD)
	Investment
(CAD)

	
	Down
	.2
	-20,000
	100,000

	
	Average
	.5
	15,000
	100,000

	
	Up
	.3
	50,000
	100,000

	Asset B
	
	
	
	

	
	Business Cycle
	Probability
	Annual

Cash Flow
(CAD)
	Investment
(CAD)

	
	Down
	.2
	50,000
	100,000

	
	Average
	.5
	15,000
	100,000

	
	Up
	.3
	-20,000
	100,000


REQUIRED:
1. Calculate Asset A and Asset B's expected return and standard deviation separately.

2. What would be the expected return and standard deviation of a portfolio comprising 50% Asset A and 50% Asset B?

3. What does the portfolio in Part 2 demonstrate?

Diversification at Agnew with Assets A and C
Agnew Company decided to substitute Asset C for Asset B in its investment portfolio.

	Asset C
	
	
	
	

	
	Business Cycle
	Probability
	Annual Cash Flow
(CAD)
	Investment
(CAD)

	
	Down
	.2
	1,000
	100,000

	
	Average
	.5
	10,000
	100,000

	
	Up
	.3
	30,000
	100,000


REQUIRED:
1. What would be the expected return and standard deviation of a portfolio comprising 50% Asset A from the previous Question and 50% Asset C above?

2. What does the portfolio in Part 1 demonstrate?

Calculating Beta at Potter
Potter Industries is estimating its beta using the following data: 
	Date
	Stock
Index
	Potter
Closing

Price
(CAD)

	12/11
	430.22
	213.00

	1/12
	443.93
	226.75

	2/12
	467.07
	228.75

	3/12
	475.35
	213.88

	4/12
	475.35
	203.00

	5/12
	489.83
	206.13

	6/12
	471.16
	197.13

	7/12
	487.81
	201.25

	8/12
	495.43
	196.88

	9/12
	487.86
	203.63

	10/12
	492.46
	198.25

	11/12
	475.22
	192.25

	12/12
	517.09
	189.00


REQUIRED:
1. Calculate the beta for Potter using the Slope function in Excel.
Calculating Beta at Cascade
Cascade Ltd. is estimating its beta using the following data: 

	Date
	Stock
Index
	Cascade
Closing

Price
(CAD)

	12/10
	430.22
	39.38

	1/11
	443.93
	43.75

	2/11
	467.07
	51.75

	3/11
	475.35
	54.38

	4/11
	475.35
	55.13

	5/11
	489.83
	54.13

	6/11
	471.16
	52.50

	7/11
	487.81
	56.50

	8/11
	495.43
	55.38

	9/11
	487.86
	54.50

	10/11
	492.46
	51.00

	11/11
	475.22
	48.88

	12/11
	517.09
	56.00


REQUIRED:
1. Calculate the beta for Cascade using the Slope function in Excel.
2. What is the beta for a portfolio that is 30% Potter from the previous question and 70% Cascade?
3. What is the major limitation of how Cascade calculates beta?
Calculating Beta at Jamieson
Jamieson Ltd. is a large-cap company that produces safety clothing and equipment.  The CFO collected the following data to calculate the firm’s beta:
	Date
	Jamieson
Share Price
(CAD)
	Stock Index

	1/3/17
	109.44
	2,275 

	12/1/16
	104.22
	2,239 

	11/1/16
	98.36
	2,199 

	10/3/16
	91.98
	2,126 

	9/1/16
	92.15
	2,168 

	8/1/16
	93.74
	2,171 

	7/1/16
	95.22
	2,174 

	6/1/16
	96.37
	2,099 

	5/2/16
	97.75
	2,097 

	4/1/16
	101.73
	2,065 

	3/1/16
	97.84
	2,060 

	2/1/16
	94.11
	1,932 

	1/4/16
	94.40
	1,940 

	12/1/15
	103.52
	2,044 

	11/2/15
	111.08
	2,080 

	10/1/15
	111.34
	2,079 

	9/1/15
	100.05
	1,920 

	8/3/15
	99.73
	1,972 

	7/1/15
	117.47
	2,104 

	6/1/15
	111.09
	2,063 

	5/1/15
	107.42
	2,107 

	4/1/15
	105.81
	2,086 

	3/2/15
	102.09
	2,068 

	2/2/15
	101.30
	2,104 

	1/2/15
	88.53
	1,995 

	12/1/14
	91.67
	2,059 

	11/3/14
	88.91
	2,068 

	10/1/14
	87.82
	2,018 

	9/2/14
	85.56
	1,972 

	8/1/14
	86.38
	2,003 

	7/1/14
	82.53
	1,931 

	6/2/14
	82.40
	1,960 

	5/1/14
	80.74
	1,924 

	4/1/14
	76.25
	1,884 

	3/3/14
	76.95
	1,872 

	2/3/14
	77.66
	1,859 

	1/2/14
	69.78
	1,783 

	12/2/13
	73.42
	1,848 

	11/1/13
	66.97
	1,806 

	10/1/13
	65.11
	1,757 

	9/3/13
	61.22
	1,682 

	8/1/13
	57.75
	1,633 

	7/1/13
	61.37
	1,686 

	6/3/13
	59.95
	1,606 

	5/1/13
	59.88
	1,631 

	4/1/13
	59.66
	1,598 

	3/1/13
	53.92
	1,569 

	2/1/13
	51.82
	1,515 

	1/2/13
	51.15
	1,498 

	12/3/12
	47.27
	1,426 

	11/1/12
	46.43
	1,416 

	10/1/12
	45.93
	1,412 

	9/4/12
	48.88
	1,441 

	8/1/12
	46.25
	1,407 

	7/2/12
	45.94
	1,379 

	6/1/12
	45.35
	1,362 

	5/1/12
	42.74
	1,310 

	4/2/12
	40.31
	1,398 

	3/1/12
	40.93
	1,408 

	2/1/12
	39.26
	1,366 

	1/3/12
	36.37
	1,312 

	12/1/11
	35.06
	1,258 


REQUIRED:
1. Calculate Jamieson’s beta.
2. What is Jamieson’s cost of common equity if the risk-free rate is 4.0% and the market risk premium is 5.0%?

Holding Returns

Amy Carr is analyzing two companies as possible investments in her firm’s 3-Star Growth Fund.  The following data was collected:
	
	Ada Ltd.
	Freemont Inc.

	Current dividend (CAD)
	2.50
	1.20

	Share price (CAD)
	49.50
	82.34

	Growth rate
	2.20%
	9.10%


REQUIRED:
1. Analyze the holding returns for Ada and Freemont.
2. Which company is the best candidate for the 3-Star Growth Fund?
Valuing Common Shares at Lance
Lance Corporation is considering issuing common shares.  Their market price is currently CAD 395, but the firm would like to verify the offering price.  The following data is available:
	Beta
	0.85

	Risk-free rate
	5.0%

	Stock index return
	8.0%

	Growth rate
	5.0%

	Current dividend
	CAD 10.00


REQUIRED:
1. Calculate the intrinsic value of Lance Company's shares.  Should Lance issue new shares now?

2. How would the intrinsic value in Part 1 change if Lance Company's beta fell to 0.45?

3. Redo Part 1, assuming the dividends were expected to grow at 7.0% for the first three years before falling to 5.0%.
4. Lance is uncertain of some of its inputs and has decided to do a best- and worst-case analysis.  The following data is available:

	
	Best
	Baseline
	Worst

	Supernormal growth
	9.0%
	7.0%
	6.0%

	Growth period
	5 years
	3 years
	2 years

	Normal growth
	6.0%
	5.0%
	4.0%



Would this affect the decision made in Part 1?  Assume the results will follow a symmetrical distribution.
Valuing Common Shares at Jackson
An investor is considering buying shares in Jackson Company at the current market price of CAD 132.  The following information is available:

	Beta
	1.25

	Risk-free rate
	4.0%

	Stock index return
	9.0%

	Growth rate
	4.0%

	Current dividend
	CAD 7.00


REQUIRED:
1. Calculate the intrinsic value of Jackson Company's shares.  Should the investor go long or short?

2. How would the answer to Part 1 change if the beta estimate were reduced to 1.10?

3. Re-do Part 1 assuming the dividend growth rate was expected to be 8.0% for the first two years, followed by a constant growth rate of 4.0%.
Valuing Common Shares at Alexa
Joe Rita is considering buying shares in the Alexa Company.  The shares currently trade at CAD 45 each, and Rita is trying to determine whether they are a good investment.  Based on available company data, it was estimated that the company would grow at a supernormal growth rate of 8.0% for the next three years, followed by normal growth of 3.0% in perpetuity.  Alexa has a beta of 1.36 and its dividend is currently CAD 3 per share.  The risk-free rate is currently 4.0%, and the return on the market portfolio is 10.0%.  

REQUIRED:

1. Calculate the intrinsic value of Alexa Company’s shares.  Should Rita invest?

Valuing Common Shares at McEwan
MacEwan Ltd. is contemplating issuing new equity to finance a corporate expansion, but it is concerned that the market is undervaluing its shares at their current price of CAD 125 per unit.  MacEwan has decided to contract Alpha Consulting to estimate its share price before asking its investment banker to arrange the issuance.

The shares are currently paying a dividend of CAD 8.50 per year, which has been growing at 5.0% per year for the past five years.  Alpha Consulting calculated MacEwan’s beta to be 1.15.  The return on the market is 10.0%, and the risk-free rate is 5.0%.  

REQUIRED:

1. Calculate the intrinsic value of MacEwan Ltd.’s share.  

2. What course of action should Alpha Consulting recommend for the company?
3. How would the estimate in Part 1 change if dividends were expected to grow at 8.0% for the next three years due to a new product introduction before falling to 5.0% in the long term?  

Valuing Common Shares at Spider
Dan Willis is considering investing in the shares of Spider Company, a manufacturer of snowboards.  The shares currently trade at CAD 50.00, but Mr. Willis is wondering whether this valuation is accurate.  Dividends are currently CAD 2.00 and are expected to grow at 15.0% per year for two years, followed by steady growth of 4.0% per year.  Spider’s beta is 1.3.  The risk-free rate is 4.0%, and the market risk premium is 6.0%.

REQUIRED:

1. Calculate the intrinsic value of Spider Company’s share.

2.     What investment action should Dan Willis take?  Explain.
Valuing Preferred Shares at Roanoke
Roanoke Ltd. has recently issued 3.5%, cumulative preferred shares with a par value of CAD 100.00.  Roanoke’s cost of preferred share financing is 9.22%. 
REQUIRED:
1. What is the intrinsic value of Roanoke’s preferred shares?
Valuing Common Shares at Klondike
Klondike Ltd. operates a gold mine in British Columbia.  Its common shares currently pay an annual dividend of CAD 2.50 per share, which is expected to decline in perpetuity by 5.0% annually based on historical data as the mine property is depleting.
Klondike has a beta of 1.3, the market risk premium is estimated to be 5.5%, and the 20-year government bond rate is 4.0%. 
REQUIRED:
1. What is the intrinsic value of Klondike’s common shares?
Valuing Common Shares at Samantha
Hal Wipley is the owner of Samantha Company and has hired Jenna Walters to value his firm as he is contemplating retirement.  Walters made the following estimates:
	
	High-Growth Stage
	Stable-Growth Stage

	Growth rate
	18.0%
	3.0%

	Length of growth period
	2 years
	Indefinite

	Beta
	1.36
	1.36


Walters expects the high-growth stage to phase into the stable-growth stage evenly over two years, before reaching stable growth in Year 5. Dividends per share are currently CAD 6.40.  The risk-free rate is 4.0%, and the market risk premium is 5.0%.
REQUIRED:
1.
What is the intrinsic value of Samantha’s common shares? Hint: Use the three-stage income approach model.
Valuing Common Shares at Rideau
In early 2016, an equity analyst attempted to value Rideau Industries.  Its share was trading at CAD 34.44, and its 2015 trailing EPS was CAD 3.55.  Its historical P/E ratios for the past five years were:
	
	2011
	2012
	2013
	2014
	2015

	P/E ratio
	10.0
	11.0
	12.8
	11.1
	9.7


The consensus analyst forecast of Rideau’s leading EPS is CAD 3.72 for 2016.

REQUIRED:

1. Are the shares over- or undervalued?
Valuing Common Shares at Hi-Tech
Alexa Jackson is an equity analyst and is attempting to value Hi-Tech Ltd. in early 2016.  Hi-tech’s share price is currently CAD 56.48.  Jackson collected the following data for Hi-Tech’s main sub-industry competitors:

	Company
	Share Price
(CAD)
	EPS
(CAD)
	P/E Ratio

	ABC
	85
	5.95
	14.29

	ACME
	135
	8.35
	16.17

	Bloggins
	50
	3.11
	16.08

	Logos
	254
	17.20
	14.77

	Ventura
	124
	8.01
	15.48

	Reflex
	69
	3.80
	18.16


Hi-tech’s trailing EPS was CAD 4.51 in 2015, but Jackson expects its leading EPS to fall to CAD 3.51 in 2016 due to product delays.
REQUIRED:

1. Are the shares over- or undervalued?
Market-Weighted Stock Indexes
The Kamloops Stock Exchange (KSE) recently began operations with five listed companies. The following price data was collected: 

	
	Base Year
	End of Year 1

	
	Price
	Shares Outstanding
	

	Share A
	15.20
	120,500
	17.70

	Share B
	8.20
	95,000
	6.40

	Share C
	12.30
	85,400
	14.50

	Share D
	20.80
	134,000
	21.60

	Share E
	19.70
	102,400
	23.30


No additional shares were issued in Year 1.  KSE uses a market-weighted index.
REQUIRED:

1. Calculate the value of the KSE index after its first year of operation. 
2. What is the annual return for the KSE index?  What is a major problem with how this return is calculated?

Equity Financing 

REQUIRED:

1. Access the most recent financial disclosures (annual financial statements, notes to the financial statements, management discussion, & analysis, and annual information form) for George Weston Ltd. found in the investment relations section of its website or through SEDAR.

2. Research the company’s sources of permanent equity financing.
3. Prepare a 200-word submission describing these sources of financing, providing reasons why they were selected.

4. Respond to the posts of at least three classmates.
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